= AH O
N = 0 &8 AF S & Al A
2000EE =&F 3 3 ALGH wSHYHW ~ nSHH Y
2N NS#HEY
Mz TANUNE 4 (852N E/HESLUS - S FSIIE
ERl: O - SISASXH2HA X (e dE)
2AH -3 - SH2A(SH) - MEAMY - BHES Ol & J| & @ Hns
nEd 60,998,925 60, 167,046 831,879
= 1,151,312 1,151,022 290
o= 218,568 218,568 0
= 664,894 664,894 0
Al 58,964, 151 58,132,562 831,589
CANDNE EHHLSLNS/HEDE - SFSIIE 57,946,384 57,214,505 731,879
=2 1,151,312 1,151,022 290
== 218,568 218,568 0
2 664,894 664,894 0
Al 55,911,610 55,180,021 731,589
o2 - SISANSIASLEAME IS 57,946,384 57,214,505 731,879
= 1,151,312 1,151,022 290
< 218,568 218,568 0
= 664,894 664,894 0
Al 55,911,610 55,180,021 731,589
HsnsMHEXA 2,693,863 2,682,338 11,525
301 2EtEAZ 250,113 238,588 11,525
12 JIEtEAZ 250,113 238,588 11,525
OREINE MB222
ZA 1,000 37,000 *2.5/100%50/ 100365 168,813 159,688 9,125
OWNEIIE Z2UHl X
A 1,500 *51,6000H 77,400 75,000 2,400
AMUHL=EHEHAMEXNR(EX) 3,802,018 3,081,954 720,064
= 628,477 628,477 0
Al 3,173,541 2,453,477 720,064
301 Yutg A= 3,802,018 3,081,954 720,064
= 628,477 628,477 0
Al 3,173,541 2,453,477 720,064
12 JIEIEA S 3,802,018 3,081,954 720,064
OoLz&s 223 AH 2,545,064,000 2,545,064 1,825,000 720,064
20 IIY TIaHXE BA(EX) 1,312 1,022 290
= 1,312 1,022 290
301 LEtE A2 1,312 1,022 290
=2 1,312 1,022 290
12 JIEtEA S 1,312 1,022 290
Osl2dll T8 o T2 Teixe 2a=2
A& 1,312,000& 1,312 1,022 290
= 1,312 1,022 290
MEESS(LEULDE/HENE - SFEIIE 2,953,500 2,853,500 100,000
LHEHH XIS 2,953,500 2,853,500 100,000
It HEES 2,953,500 2,853,500 100,000
701 JIEISIHAE =2 2,953,500 2,853,500 100,000
01 JIEtR HE &2 2,953,500 2,853,500 100,000
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